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1
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X
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16. B 7-5 30.80¢. 1
CZ
17. C BC 1
OB
18. B OA 1
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- [mge] [z a
= 20 x 21
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8n AlA = x
2 4 3 4
[ 1 x1+3x3 1x2+3x4
_ 1
| 2x1+4x3 2x2+4x4 2
[1+9 2+12] .
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H = x-3
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A= x2-7x+12
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H x L
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B = 1
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7
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r2 = 49
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r = 7~O.@DG. 9
ReWT e® = 21
= 2x7
= 14 Bo.Q0e. 3 2
45. AOOBTRE),
Tpeor e, DAEBE = 462 23.50.40e.
1
TP TS, QRBE = 5 TR TS, | DALEE
r = °?
9 1 = 9
B TB,F WS, DALRE = 5 TPE S, | DR,0E
1
2narh = 3 462
2nrh = 154 23.%0.Q0%e. %
Tror S, DALOF = TIB,F S, DL + TTNES Q0008 3
Tpror e, DREF = 2arh + 2wr?
462 = 154 + 2nr?
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iv) 50 - 1 ®0.33e.
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vii) W = 2 0.6, 5
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5
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WY, a+ar+ar® = 4 :
9 1
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= r-2=0 SlatNp 3r+2=0
r=2 3r = -2
_ 2
r = -3
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- m?2 -2m +3 2m3 +5m?2 - 4m - 3
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0 3m2 +6m-9
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m2+2m -3
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a+b+c =0
NOBR WML a‘sﬁFasa‘% 330N
(a+b+c)? = 02
a2+b2+c?2+2ab+2bc+2ca=0 %
2(ab+bc+ca) = —a?-b?-c?
2(ab +bc+ca) = —(a2+b2+c2)
(a2+b2+c2?) .
ab + bc +ca = - 5 . () 3
35N
&R = a2 - be
= a.a-bc
a+b+c 0
=al-b-cl-bc %
=
= —ab -ac - bc %
= —[ab + bc + ca ]
[ . (1) ooz ]
(a2+b2+02) )
= — —_ 2 §
(a2+b2+c2)
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(a2+b2+02) )
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= b+c = -a
(a2+b2+02) )
al-al+bc = - 5 5
(a2+b2+c2)
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2
2 2 2
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—[az—bc] = - 2 é
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- a?-bc = +b2 T mpad 1] 3
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AB _ AX .

= DE = DY ... (1)
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oess - P 89, R3.1$ 70, 3,368 RPQ 9000, AP @333, BP RYRy,
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boptatoiit
Qoez= F200
£ APQ =90° ...... (i) R BRODTE)., RT3 &) 3BT, ©0W
£ BPQ = 90° ...... (ii) —— :

N[~

£ APQ + £ BPQ = 90° + 90°| (i) %3, (i) 3p03n

£ APB = 180°

APB 03 2,053 3830359033

A, B 33, P %) A0Y0eaTnSemones I,

N[~
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smress | S | eogwem | JSx | pD=x-x| D? | /D2
X
1-5 1 3 3 - 10 100 | 100
6 - 10 2 8 16 -5 25 50
11-15| 3 13 39 0 0
16-20| 4 18 72 +5 25 100
N =10 S fx = 130 S fD2 = 250
. 1+5 6
) (1-5)3apmpom = 5 = 5 =3
i) mowEO = x = 21{;" X somtamnnd | 1
130
— 2 9 1
= 19 D2 3035%R030%)% ]
x = 13 >fp2 | 1
i) snes aued = o = ) 2420 2
- 10
= V25
1
o =5 3
iv) RR&FS o8 C.V. = & x 100 1
X
5
= 13 X 10
_ 500
= 13
C.V. = 3846 :
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Bz2,03re C,.C,,C4R3 N agnmms, 1

2
R = 3 30.0¢. (Cl ) AB 280305350 .
r=2%0.ae (Cy) AB 03 23,200 X MoS8mms 2
R +r=5%0.a% (C4)| LB 733 Sutmdmc 3
3, = 3, PQ mwR3, 3,378 SR 1

2
d =9 30.80e. )

2
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B
Q
A
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=3, : AABC ¢3¢, £ BAC = 90° >
moReed : BC2= AB2 + AC 2 z
0 ¢ AD 1 BC 80303 Q800 %
TS ¢
QCRTBNED Fo00oNED
A ABC 535, A DBA 11%€),
£ BAC = £ BDA = 90° 33, 303, T
L ABC = £ ABD ......... 00D FORT,
. AABC ||| ADBA ...... B3R BEERCRODNTINGS >
AB _ BC
DB ~ AB
@0z BC.DB = AB2 ... (1) >
A ABC 338>, A DAC R$),
£ BAC = £ ADC = 90° T3, R, T3 V0D TR,
L ACB = L ACD &WNAL FXBREACINTINGS
AABC ||| ADAC ......
BC _ AC
AC - DC
BC.DC = AC2 ... (i) 5
BC .DB + BC .DC =AB? + AC? | (i) &3, (ii) 3okmn
BC (DB + DC ) =AB? + AC 2 88,003 DB + DC = BC
BC.BC=AB?2 + AC?
©058, BC2 = AB2 + AC 2 m0033. >
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5 ~
™
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~ Z
3¢t
O/
o
(-1,1) 1 (1,1)
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